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import java.util.*;

public class Main {
public static void main(String args[] ) throws Exception {
Scanner sc = new Scanner(System.in);
String s = sc.next();
System.out.println(s);
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import java.util.*;

class Main {
public static void main(String[] args) throws Exception {

int price; //&%8
int count; //##K
int types[] = {10000, 5000, 1000, 500, 100, 50, 10, 5, 1 }; //&f&

Scanner sc = new Scanner(System.in);

/AT (CO—REBRELTZE,
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//ZZFT
sc.close();
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import java.util.*;

class Main {
public static void main(String[] args) throws Exception {

double height,weight; //BE. K&
int howto; //EtESE

Scanner sc = new Scanner(System.in);

J/IAF(CO—-REEBRELTZE,
//ZZET

WeightCheck wc = new WeightCheck(height,weight,howto);
wc.calcStdWeight();

wc.display();

sc.close();

}

/IEEREHE ERER NHDIS X

class WeightCheck {
double height,weight,stdWeight; //BE&. AE. {Z&EAKE
int howto; //EtESE

[IAFMEDEY ~ (AR BS04)
WeightCheck(double height, double weight, int howto) {
/IATFICO—REBRELTZEL,

/I CZFT
}

[ IREKEDETE
void calcStdWeight() {
/IATFICO—REBRELTZE,

//IZZFT

}

/RN

void display() {
//ATFICO—REBRELTZEL,

//ZZET
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import java.util.*;

public class Main {
public static void main(String args[] ) throws Exception {
Scanner sc = new Scanner(System.in);
String s = sc.next();
System.out.println(s);
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import java.util.*;

class Main {
//EERERIRLE
static final int tariff[][] = { { 3, 140 }, { 6, 180 }, { 10, 190 }, { 15, 230 }, { 20, 320 },
{25, 400 }, { 30, 480 }, { 35, 570 }, { 40, 650 }, { 50, 740 }
s

public static void main(String[] args) throws Exception {
Scanner sc = new Scanner(System.in);
int distance = sc.nextInt();

System.out.print(calcCharge(distance));
¥

/IBEZEE
static int calcCharge(int distance){
int charge = 0;
for (int i = @; i < tariff.length; i++ ){
if(distance <= tariff[i][0] ){
charge = tariff[i][1];
break;

}

return charge;
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import java.util.*;
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public class Main {

public static void main(String args[]) throws Exception {

Scanner sc = new Scanner(System.in);
String str = sc.nextLine();

CountCode cs = new CountCode();
cs.display();
sc.close();

[IXFENI b RRITDISA

class CountCode {
char ch[] = { 'a', 'b", 'c', 'd', 'e" };
int count[] = new int[ch.length + 1];
String str;

[ INFHINSEXFZNT> b
void count() {
for (int i=0; i<str.length(); i++){
for(int j=0; j<ch.length; j++){
if(ch[j] == str.charAt(i)){
count[j]++;
break;

//BEEED
void display() {
System.out.println("ANESNIEXF:" + str);
System.out.println("77> NMEER");
for (int i=count.length-1; i>0; i--) {
System.out.print(ch[i] + ":" + count[i] + "[@" );
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import java.util.*;

class Main {
public static void main(String[] args) throws Exception {

int min = Integer.MAX_VALUE, max = @, value, num;

Scanner sc = new Scanner(System.in);
num = sc.nextInt();

for(int i=0; i<num; i++){
value = sc.nextInt();
if(min > value){
min = value;
}
if(max < value){
max = value;

System.out.println(max + "¥n" + min);
sc.close();

M2 &EHE / HSE & / BES(L:159
IEE
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import java.util.*;

class Main {
public static void main(String[] args) throws Exception {

int price; //&%8
int count; //##K
int types[] = {10000, 5000, 1000, 500, 100, 50, 10, 5, 1 }; //&&

Scanner sc = new Scanner(System.in);

//ATFICO—REBRELTZEL,
price = sc.nextInt();

for(int i=0; i<types.length;i++){
count = price / types[i];
price %= types[i];
System.out.println(count);

}

//CCFT

sc.close();
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import java.util.*;

class Main {
public static void main(String[] args) throws Exception {

double height,weight; //BE. K&
int howto; //EtTESE

Scanner sc = new Scanner(System.in);
//ATFICO—REBRELTZE,
height = sc.nextDouble();

weight = sc.nextDouble();

howto = sc.nextInt();

//ZZFET

WeightCheck wc = new WeightCheck(height,weight,howto);
wc.calcStdWeight();

wc.display();

sc.close();

/IEEREHE ERER NDIS X

class WeightCheck {
double height,weight,stdWeight; //BE&. AE. {Z&EAKE
int howto; //EtESE

[IAFMEDTEY ~ (AR BS04)
WeightCheck(double height, double weight, int howto) {
/IATFICO—REBELTIZELN,
this.height = height;
this.weight = weight;
this.howto = howto;
//IZZFT

[ IREKEDETE
void calcStdWeight() {
//ATFICO—REBRELTZEL,
if (howto == 1) {
stdWeight = Math.floor((height - 100) * 0.9 * 10) / 10;
} else if (howto == 2) {
stdWeight = Math.floor((height / 100) * (height / 100) * 22 * 10) / 10;

}
//ZZET
}
/1REEHR

void display() {
//ATFICO—REBRELTZEL,
System.out.println(stdWeight);

if(weight > stdWeight){
System.out.println("over");

//ZZET
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import java.util.*;

public class Main {
public static void main(String args[]) throws Exception {

int dYear,dMonth,err=0;

Scanner sc = new Scanner(System.in);
int sYear = sc.nextInt();

int sMonth = sc.nextInt();

int eYear = sc.nextInt();

int eMonth = sc.nextInt();

if(sYear < @ || sYear > 9999 || eYear < @ || eYear > 9999){

err = 1;

}

if(sMonth < 1 || sMonth > 12 || eMonth < 1 || eMonth > 12){
err = 1;

}

if((sYear * 100 + sMonth) > (eYear * 100 + eMonth)){
err = 1;

}

if(err == 1){
System.out.println(" AJMEARIE");
}else{
dYear = eYear - sYear;
if ( eMonth < sMonth ) {
dYear--;
dMonth = 12 + eMonth - sMonth;
}else{
dMonth = eMonth - sMonth;

}
System.out.println(dYear + "£" + dMonth + "M A");

B5 $EDHE / MBE: 8 / BEYML:255
IEE
/1952583 Main (LT BBBABDFT,

import java.util.*;

class Main {
// BERERIRIE
static final int tariff[][] = { {3, 140 }, { 6, 180 }, { 10, 190 }, { 15, 230 }, { 20, 320 },
{25, 400 }, { 30, 480 }, { 35, 570 }, { 40, 650 }, { 50, 740 }
¥
static final int stationsDistance[] = { 1, 8, 3, 4, 5, 2, 3, 9, 4, 3 };

public static void main(String[] args) throws Exception {
Scanner sc = new Scanner(System.in);
int start = sc.nextInt();
int end = sc.nextInt();

System.out.print(calcCharge(calcDistance(start, end)));
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static int calcDistance(int start, int end){
int stationl,station2,distance=0;

if(start < end){
stationl = start;
station2 = end;
}elseq{
stationl = end;
station2 = start;

for (int i = stationl; i < station2; i++){
distance += stationsDistance[i];

}

return distance;
}
/IBEZE

static int calcCharge(int distance){
int charge = 0;
for (int i = @; i < tariff.length; i++ ){
if(distance <= tariff[i][0] ){
charge = tariff[i][1];
break;

}

return charge;
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import java.util.*;

public class Main {
public static void main(String args[]) throws Exception {

Scanner sc = new Scanner(System.in);
String str = sc.nextLine();

CountCode cs = new CountCode(str); //{EIE
cs.count(); //&MN

cs.display();

sc.close();

[IXFEAI> h RRTDISX

class CountCode {
char ch[] = { 'a', 'b", 'c', 'd', 'e' };
int count[] = new int[ch.length + 1];
String str;

/73810
CountCode(String str){
this.str = str;

}
/I CZFT
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void count() {
String str_buf = str.tolLowerCase(); //:&hl
for (int i=0; i<str_buf.length(); i++){ //MEIE
for(int j=0; j<ch.length; j++){
if(ch[j] == str_buf.charaAt(i)){ //{ELE
count[j]++;
break;

}

//BEEED
void display() {
System.out.println("ANESNIEXF:" + str);
System.out.println("7> NMEER");
for (int i=0; i<count.length-1; i++) { //MEIE
System.out.println(ch[i] + ":" + count[i] + "[E" ); //{EIE
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